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Averages
HETINE B FHTFHHE Fi98 _SIB2 FSum of items)
Find the average of the following groups of numbers : |(Average)” IE®  (No.of ltems)
D 417924 @ 0-9>14>25
F 3% F 3%
Average = Average =
@ 17.7>13.6 > 28.7 @ 4.1-35°5-2.9>0.5
-T— ¥ 8 —T— ¥ 8
Average = Average =
| 2 9 | | 5}
® 155851 ® 75 1503
¥ F 3%
Average = Average =
e
Fill in the blanks :
ORETEE ONSETE @ I H R
Johnny's result Mandy's result Nick's result
¥ F X ¥ X
Chinese 81 Chinese & Chinese 92
3 X 3 X B X
English 88 English 75 English 80
#E 2 # 2
Maths 91 Maths Maths 88
i T
General Studies 80 General Studies 95 General Studies
Ly 4 4 sy
Totgl Tot:l 335 Tot;]l
SRy ¥4 ¥ 45
Averag); Averagz Averagz 84.9
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Circle the answers :

DA AL TERM26LHHBE > wiE 5L —RBY > FHEA

B4 E DY
Peter and Paul buy a model costing $216 together. If Dad buys the model with
them, how much money does each of them pay on average ?

A.216%x3+2 B.216+3 C.216x2+3

@ AATE MO HERAGARATION Rl —E x4 %
4200 A N3 %30 5 Bl 28 B BOASGFABAE B A?

The average number of visitors going to Ocean Park per day was 759 this week.
If there were 4200 visitors from Monday to Saturday altogether, how many
visitors were there on Sunday ?

A.4200-759+6 B. 759x7-4200 C.759%6+4200

@ P B BMEHERRE YA EIY ~ T5H AT H

SH®E NS D H
Martin scored 89, 75 and 97 marks on his Chinese, English and Maths tests
respectively. What is the average mark of his 3 tests ?

A. (89+754+97)x3 B. (89+75+97)+3 C.89+75+97

@Dt 2REEIMOTHERAAGARAISA > FEL M aan AR
B A2

The average number of visitors going to Ocean Park per day was 903 this week.
How many visitors went to Ocean Park this week in total ?

A. 903x7 B.903+7 C.903x12+7

O mwiEssim > »3A L&~ T4~ 84Efoldis > F3E 18 o4 s

28 % V&2
There are 4 fish tanks containing 3, 7, 8 and 14 goldfish respectively.
How many goldfish are there in each tank on average ?

A. 8x4 B. (3+7+8+14)x4 C. (3+7+8+14)+4

©® 58 BEANFFHFHERAISK Ll b sbdE AN B F
FESRI3K B A KK

The average age of Dad, Mum and Peter is 38 years old. If Paul’s age is added,
the average age will be 33 years old. How old is Paul ?

A. 33x4-38x%3 B. 38x4-33x%3 C.33-38x3+4
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